Pay Estimate Created Date: June 30, 2023

Progress Estimate N 1	umber		230217-F11 Parking Lot Mainte	enance, LL			e Original Contract Amount Net Change Order Amount Current Contract Amount	\$0.00	
Approval Date								By User	
June 30, 2023		the Project Office Level by	cupped1						
July 3, 2023		Re	eviewed and Appro	ved (and s	hould be considered Dra	ft) at the R	esident Engineer Level by	lewisj1	
July 5, 2023			I	Reviewed a	and Approved at the Cent	Controllers Office Level by	ramses1		
Original Completion	Current Con	npletion Date	Actua	al Completion Date % of Current Contract			Amount Complete		
October 1, 2023 Octobe			r 1, 2023				7.43%		
	Contrac	t Informational Da	tes		Milestones				
Date Description	Origina	I Completion Date	Current Completion Date		No Milestones Exist for Contract				
Acceptance Date									
Awarded Date	March 8	s, 2023	March 8, 2023						
Letting Date	Februar	y 17, 2023	February 17, 202	3					
Notice to Proceed Date			April 10, 2023						
Open to Traffic Date									
Work Began Date									

Contract Total Pa	ay For Estimate No. 1				
		This Estimate	Previous	To Date	
230217-F11					
	Total Posted Items Pay	\$85,711.25	\$0.00	\$85,711.25	
	Gross Item Adjustments	\$0.00	\$0.00	\$0.00	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
			\$0.00	\$85,711.25	
Contract Total Pa	ayable This Estimate:	\$85,711.25			

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
JSL0051	0020	6139911	MISC.REMOVAL, FURNISHING, AND PLACING HOT POLYMER CONCRETE PATCHING FOR CLASS A PARTIAL DEPTH	LB	\$3.250	25,065	\$81,461.25
	0040	6169902	MISC.NTCIP COMPLIANT CHANGEABLE MESSAGE SIGN (CONTRACTOR FURNISHED AND RETAINED)	EA	\$1,000.000	2	\$2,000.00
	0050	6181000	MOBILIZATION	LS	\$4,500.000	0.5	\$2,250.00
Project JS	6L0051 - T	otal					\$85,711.25
Overall - 1	Fotal						\$85,711.25

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

	-							
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JSL0051	0020	MISC.	Material			-25,065	\$3.25	(\$81,461.25)
	0020	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0001) due to user cupped1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	25,065	\$3.25	\$81,461.25
	0040	MISC.	Material			-2	\$1,000.00	(\$2,000.00)
	0040	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user cupped1	2	\$1,000.00	\$2,000.00



Pay Estimate Created Date: June 30, 2023

Progre	ss Est	imate Number 1	Contract ID Prime Contra	230217 actor Parking		Pay Period Start See NTP Date Original Contract Amount \$1,153,928.25 ance, LLC Pay Period End June 30, 2023 Net Change Order Amount \$0.00 Current Contract Amount \$1,153,928.25					
Project Number	Line No.	Item Des	Item Description		Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount		
JSL0051						overridding Payment Estimate Exception 3 on the current Payment Estimate.					
Total									\$0.00		



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information									
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work					
JSL0051	FAF-3641(050)	Fixed Price Variable Scope for pavement repair	Various		on Route 79, I-70 OR, Salt River Road and I-64 in St. Charles County and on I-270, I-44, I-64 OR, South Woods Mill Road, Route 370, Route 364, and Route 50 in St. Louis County					

Totals by Job Numbers

JSL0051		This Estimate	Previous	To Date
Posted Item Pa	у	\$85,711.25	\$0.00	\$85,711.25
Gross Item Adj	ustments	\$0.00	\$0.00	\$0.00
	Gross Item Pay	\$85,711.25	\$0.00	\$85,711.25
Incentive		\$0.00	\$0.00	\$0.00
Disincentive		\$0.00	\$0.00	\$0.00
Liquidated Dan	nages	\$0.00	\$0.00	\$0.00
Other Contract	Adjustments	\$0.00	\$0.00	\$0.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JSL0051, Item 6139911, Project Item Line Number 0020, Material Set 6139911, Material 1039AGPC - Aggregate for Epoxy Polymer Conc Overlay, Acceptance Action Generic 1039AGPC is insufficient.	No Remark was entered by Engineer	cupped1	Overridden
Estimate Exception Type: Insufficient Materials: Project JSL0051, Item 6139911, Project Item Line Number 0020, Material Set 6139911, Material 1039ERPC - Epoxy Resin Mat for Polymer Conc Overlay, Acceptance Action Generic 1039ERPC is insufficient.	No Remark was entered by Engineer	cupped1	Overridden
Estimate Exception Type: Insufficient Materials: Project JSL0051, Item 6169902, Project Item Line Number 0040, Material Set 616990296, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	No Remark was entered by Engineer	cupped1	Overridden



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)		
230217-F11	JSL0051	0001	0010	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$2,500.00	\$0.0
		0001	0020	6139911	MISC.REMOVAL, FURNISHING, AND PLACING HOT POLYMER CONCRETE PATCHING FOR CLASS A PARTIAL DEPTH	335,081.00	0.00	335,081.00	LB	25,065.00	\$3.25	\$81,461.2
		0001	0030	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.00	\$27,900.00	\$0.0
		0001	0040	6169902	MISC.NTCIP COMPLIANT CHANGEABLE MESSAGE SIGN (CONTRACTOR FURNISHED AND RETAINED)	8.00	0.00	8.00	EA	2.00	\$1,000.00	\$2,000.0
		0001	0050	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.50	\$4,500.00	\$2,250.0
		0030	0060	9029902	MISC.6'X15' LOOP DETECTOR	3.00	0.00	3.00	EA	0.00	\$2,000.00	\$0.0
		0030	0070	9029902	MISC.6'X30' LOOP DETECTOR	3.00	0.00	3.00	EA	0.00	\$3,005.00	\$0.0
		0030	0080	9029902	MISC.6'X6' LOOP DETECTOR	3.00	0.00	3.00	EA	0.00	\$1,500.00	\$0.0
	Project J	SL0051 - To	otal Value	e Posted to D	Date as of Report Generated Date							\$85,711.2
230217-F11 Ove	rall - Total	Value Post	ed to Dat	te as of Repo	ort Generated Date							\$85,711.2



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project:	JSL005	1										
Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0020	6139911	MISC.	6/28/23	6/30/23	11,220.00	LB	Starting at veterans memorial pkwy and finished at ssm health between stations 14+00 and 16+00. Left lanes South bound and North bound and turn lane completed.					
			6/29/23	6/30/23	13,845.00	LB	Starting at station 15+00 where ssm health is across from fazolis. Stopped at station 28+00 about 100ft from the Sb stop bar at Mexico rd.					
0040	6169902	MISC. TRAFFIC CONTROL DEVICES	6/28/23	6/30/23	2.00	EA	Hwy K North bound and South bound					
0050	6181000	MOBILIZATION	6/28/23	6/30/23	0.50	LS	Mobilization for hwy K					

The information below this line are details for Construction Signs (if applicable). No Data Available



Line Item Adjustments by Estimate

Jul 6, 2023

Contract ID: 230217-F11

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JSL0051	0020	MISC.	Material		1	Jun 30, 2023	SYSTEM	\$81,461.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user cupped1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					1	Jun 30, 2023	SYSTEM	(\$81,461.25)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0020 -	Total						\$0.00	
	0040	MISC. TRAFFIC CONTROL	Material		1	Jun 30, 2023	SYSTEM	\$2,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user cupped1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
		DEVICES			1	Jun 30, 2023	SYSTEM	(\$2,000.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0040 -	Total						\$0.00	
	- Total							\$0.00	
JSL0051	- 10(a)								



There are no contract adjustments to display for this contract.